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1.

A T
GENERAL KNOWLEDGE

TS i GERR ATSHT T G 3278 Ffafad & & sH-T1 8 ?
(A) 3Tttt St | T & T= i Ticatted ST

(B) TfRrepTies sl | TS o1 TicaTEd Hedl

(C) WA T & Wil =l S@ren ¢

(D) T&=< & et 1 g &

Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

(A) To encourage the use of Hindi in official work

(B) To encourage English in official work
(C) To Promote regional languages in India
(D) To honour Hindi poets
3Icqd Ui fopd oy gy fepam T 7
In which year was the UTSAV portal launched ?
(A) 2024 (B) 2023 (C) 2020 (D) 2022
Tt — | W1 G - 1| % |1 gAfoad hife qur gieei o e e e e 3 w8 3w g |
T - g -1l
(T (JTH)
a. 3Rfag Afem . T e 3AT® T g
b. oo <omg Il. g SIRNEH 3% |
c. I T lll. G 8T8 23R
d. . w§. JEEia IV. 3 T 3 &
%
(A) a=1L,b-ll,c—=1l,d-1V B) a=Illl,b=Il,c—-1,d-1V
(C) a-ll,b—=IV,c—1I,d-1l (D) a-=1IV,b—-1Lc—1l,d-ll
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V.S. Naipaul IV. In a Free State
Code:
(A) a=1,b-ll,c—=1l,d-1V B) a=Illbb=Il,c—1,d-1V
(C) a-ll,b—-IV,c—1I,d-1ll (D) a=1IV,b—=1,c—1ll,d=1l
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4.

5.

HIA-T IR HEHT, 2024 H &, 20 TG UG HT STAR Y ThUT BT i STt IR Tgeft
T 59 T 7

(A) freTeE seEw

(B) <r.&i.wa.

(C) TE.E.uH.Hi. 5%

(D) ST CETIEoT

Which Indian company became the first Indian company to achieve a market capitalization of
Rs. 20 lakh crore in 2024 ?

(A) Reliance Industries

(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

fore GER 391 & IcqTed o fore Ari wiag 2 7

(A) ST (B) Heft

(C) <iggd (D) af=
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

T 1 TgT GH: SIS BTSISIS Tehe &1 - | aifoa fopam
(A) 31 fegst 2024

(B) 04 femsw 2024

(C) 04 fads 2024

(D) 24 3TTEd 2024

India’s first reusable hybrid rocket Rhumi-1l was launched on
(A) December 31, 2024

(B) December 04, 2024

(C) September 04, 2024

(D) August 24, 2024
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7. -1 I - 11 3 T gafra HIfC qe FieEi o A G T e @ 9E Iw g |

A -1 T -1l
(gera Tergarterencra) ()
a. AEd o fovaforme™ . hre
b. TS GHTYEG S8 G fovafaeme™ II. ShICTRIAT
c. IUUH HEER g fevaformem . foremagR
d. 9. gretard Yyl gad favafoeme™ IV. SR
<%c :
(A) a—IV,b—1lll,c—Il,d -1
(B) a—lll,b—Il,c—1V,d-I
(C) a—ll,b—1I,c—IV,d—1l
)

(D) a=IV,b=1ll,c=1,d=-1lI

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List-1I
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University
c. Vardhman Mahaveer Open University [ll. Bilaspur

d. Pt. Sundarlal Sharma Open University ~ IV. Dimapur

Code :

(A) a=IV,b=Ill,c=1l,d—1
B) a=ll,b-1ll,c—1V,d-1
(C) a=I,b=1l,c=IVv,d=1l
(D) a=IV,b=Il,c—1,d-1l

8. 0 U i e w1 uh sF=Eies iR gid 98 2 2

(A) TREm (B) YA

(C) M= WA (D) enfifer TwTd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9.

10.

=1 1 T ITRT § TR § I[E hich AT it |
|. Y HHEAT T =TI
1. e fafy
NI, SN % 33
IV. 3TThel ol HUE
= feu Tu e § @ T IW AT
%<
(A) 111V, B) I, 1V, 1,1l
(C) 1LV, I (D) 1, 10,1, 1v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 1,10V, B) I, 1V, 1,11
(C) 1L, v, I (D) L1, 1v

= 1 e & FoFH & T 1 HAMHRYE (A) T G 1 FHRU (R) HET TR
AR (A) : T3S, AT, Teh ehr1 gomreft @ 58 v weepr & fven wome 3
2015 H 3& fopam o |
THIUT (R) : U378, 3. T, i 3239 {1 HIUEUS! & 3MUR W Wd W § == fren
TErHl T fsuer 3R areEstt godtehd g T 7 |
ﬁﬁqu@aﬁw@ﬁu.

() () sl (R) R e F S (), (A) 1w e &

(B) (A) 3R (R) SHi § & g (R), (A) 1 Hel SATEAT Tal Hidl @

(C) (A) & & Tg (R) Tefdl &

(D) (A) Tefd & Tg (R) 83 &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education, Govt. of
India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education institution
across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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11.

12.

13.

14.

e | forr ge1 ufafeas & yg@ 3w @ g
a. SEITET % THR W TR @ |

b. TG TR i wfarsraTeft HE |

c. Hrss & §@HT |

d. TR o | g |

= feu o e § @ T I g

He

(A) Had a, b, ¢ (B) %ad a, c, d
(C) %ad ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.
b. Predicting election outcomes.
c. Enhancing cyber security.
d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :

(A) a, b, conly (B) a,c,donly

(C) c,bonly (D) b, donly

U g UfauTfed HTenes Aferes Jevai § ffofaa § @ &4 aftufoa 78 2 ¢

(A) g (B) 3T (C) Tergerwm (D) ST

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization
frafafiga & @ S9-w1 v e H.A. gonedt 1 Hew @ ' 2
(A) BTERR (B) HTHR (C) F= (D) STHIH TR

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
HEet 1 HH S SEeh R % e s A S 2, weerd 3
(A) 3T 37 TH (B) R T TH (© emsn T (D) IH WM

The memory of the computer which is programmed at the time of its manufacturing is called as
(A) ROM (B) RAM (C) PROM (D) EPROM



15.

16.

17.

18.

= § @ N s Fhm gigEm (TIE) Suww A R 2

(A) T & ¥R
(C) FASE

(B) SIfer
(D) = S

Which one of the following is not an Artificial Intelligence(Al) tool ?

(A) Google Play Store
(C) Claude

frefafea o & =M 7a1 Yo 1 HRU & ?

(A) 3NN (B) TS
Which of the following is the cause of soil pollution ?
(A) Ozone (B) Aerosol

(A) I T B
(C) UT=H a3

“Limbic system” is part of
(A) Reproductive system
(C) Digestive system

(B) Gemini
(D) Chat GPT

(C) ufrg-amt

(C) Acid-rain

(B) dfeRt a=t w1
(D) 3cHSH a1

(B) Nervous system
(D) Excretory system

frmfoifiga °§ 9 9 9Ra § 31 feg@s) 2024 % THEC €IS 7

a. SRGU FSe IR

b. THTE it

c. gretsd ey

d. edMy U 3T

i fou T e & @ wE I g
He:

(A) whaet a IR b

(C) a,b,c3M d

Which of the following is a Ramsar site in India as on December 31, 2024 ?

a. Bakhira Wildlife Sanctuary
b. Ramgarh Lake

¢. Sundarban Wetland

d. Sultanpur National Park

(B) @had b, ¢ 3R d
(D) had a 3N ¢

Choose the correct answer from the code given below :

Code :
(A) aandb only
(C) a,b,candd

(B) b, candd only
(D) aandconly

(D) TN

(D) Smog
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19.

20.

21.

22.

23.

24.

(A) AUeHH | (B) Tepem o (C) eI o (D) Taferm &
‘Barren’ Island is situated in
(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy
JMUTfereh ol FEAM, gIFel shi TATIHT e g3 off ?
In which year Atomic Energy Institute, Trombay was established ?
(A) 1948 (B) 1950 (C) 1952 (D) 1954
= gy TIe vd TSl % AW % e T ™ E | w9 Sel o g i |
TS T T
1. I IR - A
2. AR deeivs - Bgu
3. Uil 9eeivg —  HEwed
4. TR - ITRuew
(A) 178 2 W& & (B) 179 4 W&l &
(C) 27 3 Wl & (D) 2d 4 & &
Ramsar sites and name of states paired below. Choose the correct pair.
Ramsar Site State
1. Sakya Sagar - Madhya Pradesh
2. Sirpur Wetland - Tripura
3. PalaWetland - Meghalaya
4. Sur Sarovar - Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
form rfirerE o wrefie Td wRet gHT @1 3 A A Ieoi@ fierdT B 7
(A) ST STfed (B) URIet wrifed
(C) 3re JfirerE (D) foradt Ty arfiera
In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
gfequr arhiehT o 9o fgie & o wiefisht o 3Tl 6 A1 ° - ueet < i ot ¢
(A) HA (B) T (C) HNI=E "X (D) "R
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
‘SreamET foRg wmeT o foet Rt oft ¢
(A) Tt (B) Teht (C) Tl (D) 35
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu



25.

26.

27.

28.

20.

30.

SHTE ATFRT 1 STEUROM 1 Icar 83

(A) 3Eefern o (B) YRa §

(C) wgFa U= MM o (D) ITEeE fohmen
The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
Haa™ T97 1 TUH TR T el ST g7 o1 ?

(A) 16 3TT&d 1947 (B) 26 SHeRI 1947

(C) 09 fedasX 1946 (D) 26 T 1946
When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26! January 1947
(C) 09th December 1946 (D) 26" November 1946

IR < dfga™ o frfafad & @ SH-91 7= a9%h TdidsR ¥ gait[ 8 ?
(A) 3B 324 (B) 3<% 325 (C) 31=VE 326 (D) 3FI=g 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
Trad IcUTeT § URA 61 a9 § -9 TH 8 7

(A) Som (B) Tt (C) T (D) =y
What is the rank of India in the world in rice production ?

(A) 1 (8) 2" (C) 3¢ (D) 4"
.0, 318, (P.LI) Thm fha s &= @ gafa T8 8 7

(A) e ferfior (B) TS I

(C) Tafercar Sushtor (D) 3WFd § ¥ g T8

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

IRd | Tl o 99ETd i GUR 1 AN i T TR g9 o1

(A) fErde forami =t yfir 1 gAfdar (B) 3T TEART <hl ST &1

(C) M I I FcATEd HET (D) Wl &g PN Y 1 SR

The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation
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31.

32.

33.

fafer
LAW

Hlaam &I foRvarst ® oot #td gu 7 § w1 gt sfaemer 3 #a1 8 fe arde gfagm
TeId: Tsh TR Garas & ?

(A) ST i (B) 3MmEarT Sifm

(C) Udfaer mfee (D) . . foar

Who among the following Constitutional historian has said that the Indian Constitution is essentially a
social document while commenting on its features ?

(A) John Lock (B) Ivor Jennings
(C) Granville Austin (D) K. C. Wheare

Tegdfa o= =Tl § Afdfed 3T wriargs =t 6t fgfaa ferat safy & fore
Hehell B 7

(A) < a9 ¥ i T8

(B) @ a¥ & rfereh Tl

(C) T a8 A 31 &

(D) IR a9 ¥ feren &l

For how much period the President can appoint additional and acting judges in High Courts ?
(A
(B

) Not exceeding two years
) Not exceeding three years

(C) Not exceeding one year
)

(D) Not exceeding four years

frferfaa & @ = a& gafea =& g ?

(A) TEATEAT Gfae™ 1 9ET T2 8 — & Seal 1 g

(B) et JAterfu 1 fagra — ekt Meft s wRa w9

(C) Tiqer Hmem i =fies guften it wifgq — sfew wieh 9w U= W=
(D) 3TRIYY ST AR TATTATEE SeATE TR0 — Tl I heiieeh U

Which of the following is not correctly matched ?

(A

Preamble is not part of the Constitution — Re Berubari Case

(C
(D

)

(B) Principle of prospective overruling — Maneka Gandhi V. Union of India
) Power of judicial review of Constitutional Amendment — Indira Gandhi V. Raj Narain
)

Narco analysis etc. test of accused — Selvi V. State of Karnataka
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34. Tr=fafed & & -9 YeTfohR STdTa SgETSon 61 safy o Tufia T2 foram S whar 7 7

. 3TTTBE 20
Il. 3TT=ag 21

FIEPT I ﬂ'&m :

(A) e | (B) had Il

(C) 1Td 11 Al (D) 3% H ¥ hIg &

Which of the following fundamental rights can not be suspended during proclamation of emergency ?
[. Article 20
II. Article 21

Choose the correct answer :

(A) Only | (B) Only Ii

(C) land Il both (D) None of the above

35. HGUM % TREH W T i e ot

(A) 9 st (B) 10 gl

() 7 rgEf=rl (D) 8 STt
Number of Schedules under the Constitution at the commencement of it were
(A) 9 Schedules (B) 10 Schedules

(C) 7 Schedules (D) 8 Schedules

36. 3T 21A S I=aiia 131eAT T TR wfehafera feram e
(A) 849 TAYT HINEH gRI

(B) 86d TiauM TENeH g

(C) 879 Hiau™ HIMeH grI

(D) 83d wWiga™ Fxed g

Right to Education under Article 21A was included by

(A) 84t Constitutional Amendment

(B) 86! Constitutional Amendment

(C) 87t Constitutional Amendment

(D) 83" Constitutional Amendment
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37.

38.

39.

‘I Joefl § T’ T WREIEeR Y SATavshdl SET UR fhu I SEd 7 a8
feoquft Tt =nfres fgfaa ST o "t 1 fafieea #td g I=aan =mrerd i deurte
i3 % fopm =manefier gru < WAt oft 2

(A) —rfd B S (B) =rmerfc we . T

(C) =IRfd I, <eTHYR (D) =IRHfd 5. TH. W

“The Collegium system needs to be improved requiring a ‘glosnost’ and a ‘perestroika

. This remark is
made by which one of the judge of the Supreme Court’s Constitutional Bench while deciding the National

Judicial Appointment Commission’s case ?
(A) Justice Kurian Joseph (B) Justice Madan B. Lokur

(C) Justice J. Chelameshwar (D) Justice J. S. Khehar

A o Faied AR I 9 GRI YA T i =1 feu e 311est < g 61 vfed 8

(A) 3T 134 (B) ITT=E 137

(C) 3TT=BT 136 (D) 3<% 135

The Supreme Court of India has power to review any judgment pronounced or order made by it under
(A) Article 134 (B) Article 137

(C) Article 136 (D) Article 135

QATRYTE T AT hi Irferaal &

(A) TemEf AfURITET o fabg SmEATHS HRETE! 6t e ST
(B) SRTH(Teh SATRTET & 1l shl THITied ohiT

(C) TTHR ol TF 3 T et

(D) JRIHh Hedl § qraf-ad hanati Sl 3T==wor

The power of the Lok Pal or Lokayukta is to

(A) Conduct inquiry against administrative officers for disciplinary action

(B) Discharge the functions of administrative officers

(C) Give observations and recommendations to the government

(D) Investigate complaints involving grievances in respect of administration
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40. “‘faftr =1 s forgra foraa wfaarfeq femam o 2
(A) 3R SAE (B) sieh T&H (C) W%, STIHT (D) Het

The Doctrine of “Rule of Law” was propounded by

(A) Ivor Jennings (B) Black Stone (C) Prof. Dicey (D) Sydney

41. W . shUsh SATH YRA U9 % A § Feied Fed 1 =9 & g afaarfed feram en
(A) Tafer =1 see vma & gfay™ % sr<ee 14 § Gffed 8
(B) —Tfeh wefteqn HiGe™ o YT HLAAT 1 Teh W 8
(C) dfifer =ma w1 fagra serfer FEaE W An 2 2
(D) Tl < avaTa gAaTE WTehfaeh = % e % T s g
The principle of law laid down by the Supreme Court in the case of A. K. Kraipak V. Union of India was
(A) Rule of law is embedded in Article 14 of the Constitution of India
(B) Judicial review is a part of the basic structure of the Constitution
(C) Principles of natural justice is applicable to administrative proceedings

(D) Post decisional hearing would be sufficient for the observance of natural justice

42, AU TF SAlhrgeEd JfUfRM, 2013 ¥4 31

(A) 1 SFe, 2014 (B) 17 fearsy, 2013

(C) 16 SHal, 2014 (D) 3% § & g &l
The Lokpal and Lokayukta Act, 2013 came into force on

(A) 1stJanuary, 2014 (B) 17t December, 2013
(C) 16t January, 2014 (D) None of the above

43,  “‘gxmafies fafy gt wifga & fremor @ grafa fafa 2 1 8 forea et ot 2
(A) I8 (B) =. HI. sfa™ (C) 3TEeR Af (D) TR

“Administrative law is the law relating to the control of governmental power”. Who said it ?

(A) Wade (B) K. C. Davis (C) Ivor Jennings (D) Garner
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44, Trfafed & @ HH-a1 3@ 78 gafera 2 7

45.

46.

47.

(A) <t Teaefietor fie — shaet TS & faeg SR T ST &

(B) 3tfrrr-g=a fie - refiey =meraat & faeg SR foram wmam 2
(C) TTHTCYT T T{e — <k Tt o foeg ST foparm irar B

(D) Tfawer =1 fie — fosht safdaat & foeg SR fomam Smar 2
Which one of the following pair is correctly matched ?

(A) Habeas Corpus Writ — Issued only against State

(B) Writ of Quo Warranto — Issued against subordinate courts

(C) Writ of Mandamus — Issued against public authority

(D) Writ of Prohibition — Issued against private persons

et 9 & forg fafoemsht it ssh fafreme w1 fiar e ST 2 2

(A) aTfee (B) S~

(C) dmug (D) T&h! 1378

Which of the following Jurist is regarded as the Father of English Jurisprudence ?

(A) Austin (B) Bentham

(C) Salmond (D) Roscue Pound

“fafer o1 fashre th it v SAfers afshan 8 17 38 fope et o 7
(A) HT=C (B) TSHE §h (C) BIvE (D) B
“Development of law is a gradual and organic process”. This statement is given by

(A) Kant (B) Edmund Burke (C) Holland (D) Savigny

(A) BTelvE g (B) s M g

(C) EieHd g (D) SHIH e g

“Law and Modern Mind” is written by

(A) Holland (B) Black Stone

(C) Holmes (D) Jerome Frank
-14-
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48.

49.

50.

51.

form forgm 3 faftmmes == < “fe a-difrs Hiodia e fo wima fiftua e o’ s w0 8
gieya femm 2 7

(A) T A (B) ITHE T o (C) /g A (D) MHE T 7

Which scholar defined jurisprudence as “The scientific synthesis of the essential principle of law” ?

(A) Keeton (B) Prof. Allen (C) Dias (D) Prof. Gray
“TaTiiea fopelt <ier W wvqut e 7 |7 E@fied shi A i fem e B

(A) BTUE ZRT (B) heIUS g (C) W gm (D) WS g
“Ownership is a plenary control over an object.” This definition of ownership is given by

(A) Holland (B) Buckland (C) Renner (D) Salmond

Frefafea # & %19 w8l gafera 7281 2 ¢

(A) ferfer o — gafetsr

(B) T TS — Efire

(C) HTE=| 3Tk FITIRIETS — I

(D) &1 & 3¢ T 39 SIS hiaa-d — afaf

Which one of the following is not correctly matched ?
(A) Living Law — Ehrlich
(B) Social Solidarity — Duguit
(C) Science of Sociology — Puchta

(D) Law has its source in general consciousness — Savigny

“‘grer Afcrenar srepien i Afqerar 2 17 T8 U forgem B 2
(A) TH. TA. U. B (B) TH. THA. Fol (C) TS Sdfe (D) e e

Who stated that “External morality is morality of aspiration” ?

(A) H.L.A.Hart (B) Lon. L. Fuller (C) Lord Devlin (D) Lord Denning

-15-
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52. foafafaa § @ wH-91 “‘SrRURe fddca’” 1 fagra 18 2 2

(A) Toeea fhgr (B) Stehe g
(C) wenefandt fagr (D) s=o1 fagr=
Which one of the following is not “Corporate Personality” theory ?

(A) Fiction theory (B) Bracket theory
(C) Realist theory (D) Will theory

53. FAfaRgd #§ & ®F-T1 a1¢ U™ § grafd T8 8 7

(A) 3R, S T8 (B) SR HHT HIY S $FI

(C) SIS ST &S (D) 3. s B

Which of the following case does not relate to mens rea ?

(A) R.V.Tolson (B) Barendra Kumar Ghose V. Emperor
(C) Sherras V. Rutzen (D) R.V. Prince

54. ‘‘HeWEYSsh WRdAT €8 Hfgal § qiwiia @

(A) ERI 51 % IF=d (B) YT 52 % IA=rid
(C) 9T 53 A= (D) ®IRT 54 % 3T=q7id
“Good Faith” is defined in I.P.C. under

(A) Section 51 (B) Section 52

(C) Section 53 (D) Section 54

55. o, I I TN G firetdr 2, Uk fUedier fe@mar & 31 4 sl 98 qFTdT & | TROMHEasy 9 37941 98

2ed e | oA fora B
(A) FTUHNT (B) THat
(C) <1 (D) IToIieres ITREmE

A meets Z in the high way, shows a pistol and demands Z’s purse. Z in consequence surrenders

his purse. A has committed
(A) Extortion (B) Dacoity

(C) Robbery (D) Criminal intimidation

-16-



£

56.

57.

58.

Frafafea § @ form arg 4 Tateg =R 3 YRR gug GigdT i 9RT 303 S IEAHTES FR
T @ 7

(A) TSt Tog s Uete s

(B) == f&g s UE U=

(C) Gar fog s use U=

(D) T T8 sHM USE TS

In which one of the following cases the Supreme Court has struck down Section 303 of the Indian
Penal Code as unconstitutional ?

(A) Machchi Singh V. State of Punjab

(B) Bacchan Singh V. State of Punjab

(C) Santa Singh V. State of Punjab

(D) Mithu Singh V. State of Punjab

freafafea o @ SF-a1 gaa1 Sefiehl Afafem, 2000 #1 31w STIUL’’ H1 GUH H g,
58 ““orget 3TaUY’”’ waET ST ka1 B 7

(A) LI VI (B) 1= VIII

(C) I XI (D) I Xl

Which of the following Chapters of the I. T. Act, 2000 deals with the “Offences” which may be called

as “Cyber-Offences” ?
(A) Chapter Vil (B) Chapter VI
(C) Chapter Xl (D) Chapter Xl

frafafaa o & #F srouy 6t O sEE R 7

(A) I, TATE, TR, hd <hl goidT

(B) I, TR, A, hd <hl qoIdT

(C) 3, Y8, d9RI, 3ha shi qoiar

(D) 3T, qIT, YATH, 3ha shi qorar

Which one of the following is correct stages of offence ?
(A) Preparation, attempt, intention, completion of act
(B) Preparation, intention, attempt, completion of act

(C) Intention, attempt, preparation, completion of act

(D) Intention, preparation, attempt, completion of act

-17-
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59.

60.

61.

62.

WIS ufd, TR 1@ T& AT JUhAT < fShl A1 3T €9 H T 1§ &l 70T Tt oh A1 35eh! HEH(d
o = Tray ST B, O 98 WA <Ug fgdn, 1860 shi fhm e o gfvea foham ST ¢

(A) 91T 376 B (B) 91T 376 (C) a1 376 A (D) @1 376 C
Under which Section of the Indian Penal Code, 1860, a husband will be punished for an offence

of sexual intercourse with his own wife living separately, whether under a decree of separation or

otherwise, without her consent ?

(A) Section 376 B (B) Section 376 (C) Section 376 A (D) Section 376 C

freferfad ® @ forem aT=rar & =wuTTees fagr=a w1 auede @l fRam 2
(A) 3TTfeed GIERN (C) BRI (D) BT
Who amongst the following did not advocate declaratory theory of recognition ?

(A) Austin (B) Brierly (C) Fisher (D) Hall

gt xrsgt St fafyr &1 SR T ST B 7
(A) TifeT| (B) S=diferd (C) It (D) S|
Who is called the “Father of Law of Nations” ?

(A) Grotius (B) Gentilis (C) Ayala (D) Brunus

AT BT RSN =R i ol smerga 8

(A) Tgm aiferfad § Tsai W

(B) \g uftfexfert # Tsdir =mmer W

(C) whaw 39 fafsmse At o 9Tl W

(D) IWFd § | I3 T8l

Decisions of the International Court of Justice has a binding effect on
(A) The states in similar situations

(B) The National Courts in similar circumstances

(C) Parties alone in that particular case

(D) None of the above
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63.

64.

65.

frfafaa # & form ate # “Hr=rat & g g9Tel 89 o1 faga 1 srgE fRen T ¢
(A) fénr mreaeey o

(B) TR S TR H

(C) Tehe BT T

(D) & THATH! S hed Tre aRRe™ o,

In which of the following cases “Doctrine of Retroactivity of Recognition” was followed in ?
(A
(B
(C
(D

) Trinco Arbitration

) Luther V. Sagar

) Pacquetto Hebbana

) Haile Selassie V. Cable and Wireless Ltd.

“q¥fl T T ®9 H G gU § 3 i qun el § weh TuE € 1P g c’HaTshi g
% =un” o ffaRad # & fhd Tgeee # aftfa & ?

(A) 3TIHTE 4 (B) 3TI=wE 2 (C) 3T=¢ 3 (D) ITT=HTE 1

“All human beings are born free and equal in dignity and rights.” This is enumerated in which one of the
following Articles of “The Universal Declaration of Human Rights” ?

(A) Article 4 (B) Article 2 (C) Article 3 (D) Article 1

fore a1g § @S Hiaia 3 SRS faftr =1 g0 yer gfenfyd foran & «aset <t fafer 33 wensn &

TrE 2 T2 o oo Tk gEt % SHaenl # qieH i % fore wend € 7 2

(A) TH. TH. dleH 915

(B) AETS BgeA TMes HIsMHT . 5w fg fohm

(C) Tl ™ HAN

(D) THTEE TG

In which case Lord Coleridge defined International Law as, “Law of Nations is the collection of usages
which civilised states have agreed to observe in their dealings with one another” ?

(A
(B
(C
(D

S. S. Lotus case
West-Rand Central Gold Mining Co. V. The King

Queen V. Keyan

)
)
)
)

Asylum case
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66. FrAfRad # & wiF iR fafy &1 SR Taifus Teca &1 |id 2 ?

(A) faftr & grumo fagra B) faferemeia sl

(C) Gft = wfeat (D) =tk fefaw=ra

Which one of the following is relatively the most important sources of International Law ?
(A) The general principles of law (B) Juristic work

(C) Treaties and customs (D) Judicial decisions

67. Tfefga o & # wdt gofea 72 & 7
(A) Tog foamg it wrd — &m0 5
(B) forg forame 1 Tede™ —am 8
(C) Tog foamz =t 3rdl o Ieeted & g gue - 4w 18
(D) HIEETEAT ol §=¢ HH T BIFT qAT 378 YehIS1d 7 fepam ST — &y 23
Which of the following is not correctly matched ?
(A) Conditions of a Hindu marriage — Section 5
(B) Registration of Hindu marriage — Section 8
(C) Punishment for Contravention of conditions of Hindu marriage — Section 18

(D) Proceedings to be conducted in closed room and not to be published — Section 23

68. HIATE! &g S 3 HRIATE o GRIF SIF T Fra-2rd HTHAT 1 fearer qen deva 60 feai o
&, 78 wauH fag fare stfuftem, 1955 & st zenfud feram
(A) Ifuf=m g. 68, 1976 g (B) 3Aff=w 4. 49, 2001 gRI
(C) Afafam . 44, 1964 g (D) IAfafrEm |, 39, 1999 g/
Matters as to payment of expenses of proceeding and during proceedings as far as possible disposed
of within 60 days is inserted in Hindu Marriage Act, 1955, by
(A) Act No. 68 of 1976 (B) Act No. 49 of 2001

(C) Act No. 44 of 1964 (D) Act No. 39 of 1999
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69.

70.

71.

72.

1. 37gUE @I 991 Mg T 9779 3 311 & Ao § 3 =Jmamer i 1fsa dis & frefefaa
el § | i rnefter g T8 o1 ?

(A) =mfd 918, . TS (B) =Imdfd €. U. <HE

(C) =amrfd Ty fasn (D) =Imrfd e firsm

Who among the following judges was not member of the Bench of the Apex Court constituted in case
of Mohd. Ahmad Khan V. Shah Bano Begum and Others ?
(A) Justice Y. V. Chandrachud (B) Justice D. A. Desai

(C) Justice Rangnath Misra (D) Justice Dipak Misra

fomg faame rfuf=m 1955 1 9/ 17 % STHER fgfomamg Rt gue digdr, 1860 i foher mr/amisti
% =TT SUSHIT ITY B 7

(A) YT 494 TF 495 (B) ©IRT 493 TS 495

(C) ©IRT 492 Ud 494 (D) & 496 UF 497

Section 17 of the Hindu Marriage Act, 1955 makes bigamy a penal offence under which Section/s of
the Indian Penal Code, 1860 ?

(A) Section 494 and 495 (B) Section 493 and 495

(C) Section 492 and 494 (D) Section 496 and 497

3, T gfeem et =R afc@r sifad €, 99: T gfeaw a9 faarg =t 7, 98 foamw gm
(A) I (B) 31aY (C) I (D) TR
A, a muslim having four wives alive again marries a Muslim woman. Such marriage will be

(A) Void (B) lllegal (C) Irregular (D) Voidable

frfeiad & famg gaeh qeT ST qI9u SATHEH, 1956 <l shi-Hl €T g7k o THOMH 6
3USY HIA B 7

(A) 91T 11 (B) 91T 12 (C) &1 13 (D) 91T 14

Which of the following sections of the Hindu Adoptions and Maintenance Act, 1956 provides effect of
adoption ?

(A) Section 11 (B) Section 12 (C) Section 13 (D) Section 14
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73.

74.

75.

ffaRea 3 9 M 98 gafaa 2 ?

(A) 3T fafy — o T, fohies

(B) 3T9ehcal shi fafr — it amfeed

(C) TIeH — % e

(D) TS §1 WHMH — HFTHcA

Which of the following is correctly matched ?
(A) Law of Tort — Percy H. Winfield

(B) Law of Torts — John Austin

(C) Tortum —  French word

(D) Rightin Personam — Tort

SHIY T TRH o WA o U H 8139 3116 T1eH o AT Hedl H HH § § S =i & 7

(A) TS HTH (B) TS il
(C) S Tefeh (D) fomerave fomrea

Who among the following judges was sitting in judicial functions of the House of Lords in the decision

in the case of Donoghue V. Stevenson ?
(A) Lord Cairns (B) Lord Coleridge

(C) Lord Atkin (D) Viscount Simonds

frfefiga § & @A sTahcTces gfica & | fagr=a & staid T8 AT @ 7

(A) SHH HTET FfeaT

(B) TWY IS il & T Fehal

(C) SIfea T eH

(DREIEEIRERE AL (]

Which one of the following does not fall under the general principles of Tortious liability ?
(A) Damnum sine injuria

(B) King can do no wrong

(C) Injuria sine damnum

(D) Volenti non-fit injuria

-22-
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76.

77.

78.

(A) ITHTEET 1 (B) Wit atfea &1
() Taftr = smm =1 (D) @& fafy =t

The maxim “Res-ipsa loquitor” is a rule of

(A) Negligence (B) Vicarious liability
(C) Rule of law (D) Evidence

sl oM Feier H e arfred o1 fram fermes gra wenfia fopam mam o 2

(A) WS Tferd (B) =mmfd @, w. W
(C) = =i (D) (B) T (C) SH

The rule of strict liability was laid down in Rylands V. Fletcher by

(A) Lord Atkin (B) Justice P. N. Bhagwati
(C) Justice Black Burn (D) Both (B) and (C)

“quicTiica o faga” &1 JfauTe d g WA o Soaad =ATed o - forg g =mndie g
Treereh are wH. =Y. Agar 99 WRa 99 (1986) § v feam w2

(A) =mfd padm e

(B) =Imfd . TH. Wt

(C) =l o TR

(D) =IRfd . T, fTg

Judgment in the leading case — M. C. Mehta V. Union of India (1986) was delivered by which one of
the following Chief Justices of the Supreme Court of India while propounding “Principle of absolute
liability” ?

(A) Justice Kuldeep Singh

(B) Justice P. N. Bhagwati

(C) Justice Krishna Ayer

(D) Justice K. N. Singh
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79. T - 191 G - 11 < A1y GATAG B 3T Gl o A= U T He 1 T A 7Y
T IR G |

it -1 g - I
a. SRfed s I i, TETH
b. Tl s fagid i, 3T
c. TATSER S UL Thel iii. SrETaET
d. IS S A THEdE =EIaE iv. SHAH S S
He
(A) a—ii, b—ii, c—i, d-iv

(B) a—ii, b—ii, c—iv, d—i
(C) a—ii, b—ii, c—i, d—iv
(D) a—ii, b—i, c—ii, d—iv

Match List — | with List — Il and select the correct answer using the code given below the lists.

List -1 List -1
a. Bourhill V. Young i. Defamation
b. Sturges V. Bidgman ii. Nuisance
c. Gloucestor V. Grammar School iii. Negligence
d. Newstead V. London Express Newspapers iv. Damnum sine injuria
Code :
(A) a—iii, b—ii, c—i, d-iv

(B) a—ii, b—ii, c—iv, d—i
(C) a—ii, b—ii, c—i, d—iv
(D) a—ii, b—i, c—ii, d—iv

80. Trferfigd amel ® & HIF-T1 aTE HHI T&dTd 1 FAd Fehfd 1 I8N 7 7

(A) HicTel SHM HraifcTeh THIh STl HEIHT (B) AR AT ST E@EIH €A
(C) T IR s Ak IR (D) AT S T g

Which one of the following cases is an example of a general offer of continuing nature ?

(A) Carlil V. Carbolic Smoke Ball Company (B) Banwari Lal V. Sukhdarshan Dayal
(C) Mc Gregor V. Mc Greger (D) Lalman V. Gauri Datt
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81. Tr=fafad arg & @ form uftfeufa & sramvaar &1 fagra o 78 gm 2

(A) Ufhfed et 1 "fed T 8T (B) Teryerereg &1 ¢ B AT

(C) $S TR HiSATSAT (D) H&ThR <hl T AT JHEFHAT

In which of the following case the principle of frustration of contract will not applicable ?
(A) Non-occurrence of contemplated event (B) Destruction of subject matter
(C) Some commercial hardships (D) Death or incapacity of party

82. TrfaRaa o @ i wfaer & forw smevas =i g ?

(A) Sfwa (B) HeIa™ Wfawa

(C) Tafergut wfiawa (D) v Ffdhet

Which of the following is not essential for contract ?

(A) Consideration (B) Valuable consideration
(C) Lawful consideration (D) Adequate consideration

83. T GNI WSHl 75 TAIh(d I
(A) Toret oft Tmr gieoeor & Tt @
(B) =t oft wicrerewor & 21 Fehel
(C) SEdTerh hi MR T 3T % T8l TTaEatul &1 Hehdl &
(D) 39 | & IS &l
Acceptance send through post
(A) Can be revoked at any time
(B) Can not be revoked at all
(C) Can be revoked before it comes to the knowledge of the proposer

(D) None of the above

84, wfaer fafer, 1872 it fAfcRaa -t 90 39T TmAT A 2 o6 T Team=n 6t gfcwgo 6
g Gfeer e e % foru srrewEres T2 gar @ 2
(A) 9T 7 (B) 9T 4 (C) 9w 8 (D) 9T 9
Which of the following Section of the Contract Act, 1872 supports the view that communication of
acceptance of a proposal (offer) is not required in order to constitute a contract ?

(A) Section7 (B) Section 4 (C) Section 8 (D) Section 9
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85.

86.

87.

fopem “demy <1 =18 afamn & R “om wk e 9= R fome g ww arffved ge & ufed BN W 3w
o AT U % T T P TS & H BR oA Smar 27 7

(A) (oot T (B) & farferem T

(C) ~merfe BTieh=s (D) & g 71

Who defined “Wager” as “A promise to give money or money’s worth upon the determination or
ascertainment of an uncertain event” ?

(A) Justice Subba Rao (B) Sir William Anson

(C) Justice Hawkins (D) Sir Lord North

STEf fob feRet SR % QT TeTehR UHT G2 I 91 o SR H, S wR o fofe 7d g, v ¥ @,
g8 hlll

(A) " (B) 1 &

(C) A ® (D) FEhT &

Where both the parties to an agreement are under a mistake as to a matter of fact, essential to the
agreement, the agreement is

(A) Valid (B) Invalid

(C) Void (D) Voidable

faftrer g wiiveRtor sifufem, 1987 1 ffeiaa o & F - 9/ # I8 Ya9H & 76 ek
Jererd g e T wess vee arg o |t gkl W st 3t aeen g 7

(A) 81T 21(2) (B) €I 20(2)

(C) &/ 22(2) (D) €™ 23(2)

Which of the following Sections of Legal Services Authority Act, 1987 provides that every award
delivered by a Lok Adalat shall be final and binding on all parties to the dispute ?

(A) Section 21(2) (B) Section 20(2)

(C) Section 22(2) (D) Section 23(2)
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88.

89.

90.

Tk 3TeTerd sl duties feufa wem i 8 3

(A) Tafere wrferestor fam, 1986 gra B) faftres Tan it rfarfem, 1987 g
(C) WRd & Higa™ g (D) IAshfcush faare Tma™ g

Lok Adalat was given statutory status under

(A) Legal Authority Rules, 1986 (B) Legal Services Authority Act, 1987

(C) Constitution of India (D) Alternate Dispute Resolution

“SAh ITeTAd” N “TAT Aleh ITeTeAa” hl Wigaar faferes Tar witesrd tfafrm, 1987 i fFafatad
H ¥ fore g © fvid g ?

(A) €1 27 (B) 4T 28 Wd 29

(C) 9mT 29A (D) 9/ 22

The powers of “Lok Adalat” or “Permanent Lok Adalat” has been mentioned in which of the following
Sections of the Legal Services Authority Act, 1987 ?

(A) Section 27 (B) Section 28 and 29

(C) Section 29A (D) Section 22

et mfdes stenfedt uee, 1987 i fmfeifaa amd @is 31eTea & wrafa 8, 399 o S ot
gHferd el 8 g |

(A) T TSTeId T TS — 9T 18

(B) e 3TETerd GRT HIH @1 — €T 20

(C) Wk IATAd hl U=TE — YT 21

(D) Teh JETAId hl Vfeaal — 9T 22
Followings are the Sections which are provided in Legal Services Authority Act, 1987 dealing with the
Lok Adalat. Choose which is not correctly matched.

(A) Organisation of Lok Adalat — Section 18

(B) Cognizance of cases by Lok Adalat — Section 20

(C) Award of Lok Adalat — Section 21

(D) Powers of Lok Adalat — Section 22
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91.

92.

93.

ferferen Qe wfrertor srfurfom, 1987 o au™l o dgd = | -t faftes e wfufa e srerera”
TN & R ?

(A) =9 =T fafees dar afufa

(B) e faferss T wfafa

() um faferes qar afufa

(D) S=uaH =T fafees dan afufa

Which one of the following Legal Services Committees may not organise “Lok Adalat” under the provisions
of the Legal Services Authority Act, 1987 ?

(A) High Court Legal Services Committee

(B) Taluk Legal Services Committee

(C) Village Legal Services Committee

(D) Supreme Court Legal Services Committee

frferfga # @ fafyr 1 wF-81 Tag™ A 37eTerd o R TR THeid i Tfdsalfud Hidl & ?
(A) Tafoer wfsean wfear, 1908 &1 amr 83

(B) Tafawt wfskam =fear, 1908 i 9T 89

(C) Tus ufshan dfedt, 1973 sl &mT 85

(D) R Trex Irfafaam, 1872 it &mT 84

Which one of the following provision of law enshrines judicial settlement through Lok Adalat ?

(A) Section 83 of the Code of Civil Procedure, 1908

(B) Section 89 of the Code of Civil Procedure, 1908

(C) Section 85 of the Code of Criminal Procedure, 1973

(D) Section 84 of the Indian Evidence Act, 1872

WA & ford TS § 9o ook 3TeTeld Ty femam T 7
(A) T (B) I &3 (C) HET T (D) TS
In which State of India the first Lok Adalat was started ?

(A) Gujarat (B) Uttar Pradesh (C) Madhya Pradesh (D) Rajasthan
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94.

95.

96.

Tl 3T hl Gl AT AT HEarE! srf HEfarad 5 9 fohaeh 312 7 7

(A) 9T 193,219 T 228 WI. €. H., 1860

(B) 9T 193, 220 U& 227 WI. §. H., 1860

(C) €T 193, 221 U 228 WI. €. H., 1860

(D) 39U T & IS &l

All proceedings of Lok Adalat shall be deemed to be judicial proceedings within the meaning of
(A)

(B)

(C) Sections 193, 221 and 228 of Indian Penal Code, 1860
(D)

Sections 193, 219 and 228 of Indian Penal Code, 1860
Sections 193, 220 and 227 of Indian Penal Code, 1860

None of the above

heg 1T TP o (TR&T0T) 3rfufaem, 1980 o 3=aiid “BeATgshR! AiHfa” ol e ffaiad o & fha
9T H T Thell B 7

(A) 91T 4 (B) 91T 6 (C) g1 3 (D) 911 5
Central Government may Constitute “Advisory Committee” under Forest (Conservation) Act, 1980
under which of the following Section ?

(A) Section 4 (B) Section 6 (C) Section 3 (D) Section 5

frfafaa # @ forg amg o Soaan =mTe™ 3 wse fRa foh «a wregaq & €1 afesh o it Sl
¥t 37U 3Tt FHIEd Tl 87 A1 7 o el foh o 31 wh il fov T w w0 R, W few
T Fe gl we i o T 2 2

(A) ¥ fAfeem wd sermeeme % a1 (IR, . §.)

(B) . T, Meran fregehdTe S WRd TH

(C) wH. . Bgal S YR €=

D) . .

In which of the following case the Supreme Court explained that the term “Forest covers not only
forests but also forest land” and also said that “Forest is no longer res-integra, therefore it also
covers dry cropland” ?

(A)

(B)

(C) M. C. Mehta V. Union of India
(D)

Rural Litigation and Entitlement Kendra Case (RLE)

T. N. Godavarman Thirumulkpad V. Union of India

Tarun Bharat Sangh V. Union of India
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97.

98.

99.

100.

weferor EeeTw A, 1986 % 3899 &

1. TTET ST GRETT

2. TGOl 1 GUR

3. AME % oY Wate =S & W@

Hal I ﬂﬁ? :

(A) Had 1 (B) whad 2 (C) 1,2Tg 3Tt (D) 1 3R 2gF
Environmental Protection Act, 1986 has its objectives as

1. Protection of Environment

2. Improvement of Environment

3. Prevention of Hazardous to human being

Select the correct answer :

(A) Only 1 (B) Only 2 (C) 1,2and 3 all (D) 1 and 2 both
T Sfie wwer stfufrem, 1972 Frafafea & @ fra v &1 yaam 7@ war g

(A) ufede ureh (B) IITART

(C) TSEHI uTeh (D) 5 &

Wild Life Protection Act, 1972 does not provide for one of the following

(A) Public Parks (B) Sanctuaries

(C) National Park (D) Closed Area

oG T TATeRYT T Sofia g3 o

(A) 1Sekl, 1980 (B) 1TTH, 1980 =l

(C) 1 JeTE, 1980 i (D) 1 %R, 1980 !

Department of Environment in Center was set up on

(A) 1StJanuary, 1980 (B) 1St March, 1980

(C) 1stJuly, 1980 (D) 15t November, 1980

Gfgem & Aradt e & TsF 6 fawy g=h @ aq S guad! = § waEaia femm

(A) Tfaea (42 o7 Gened) Aty g (B) Gfaa™ (44 =i Tsned) Afaf=m @
(C) Hfaam (40 of T=mer) rfaufrm @ (D) Hfae (YW Fened) Aft=m o

The subject “Forest” transferred from the States subjects list to the concurrent list of the Seventh
Schedule of the Constitution by

(A) The Constitution (42"d Amendment) Act (B) The Constitution (44" Amendment) Act

(C) The Constitution (40" Amendment) Act (D) The Constitution (15t Amendment) Act
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INSTRUCTIONS FOR CANDIDATES

. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General
Knowledge.

. There are a total of 70 questions related to the optional subject in the second part of this Question Booklet.

. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English. (@
Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet. (@
If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to (@

0] o) o] o{ - "v] o) bf ] vl bY o] v] -] vl by b] ] -] "oy o] B] o] -ty by o] e[ vl by

be chosen for each question item. @
Immediately after the commencement of the examination, you must check the Question Booklet to ensure (@
that there are no unprinted, torn or missing pages or question parts etc. in it. @
. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator. @

Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the @

Question Booklet and Answer Sheet.

The candidate must write his/her roll number, subject, correct question paper code, number of answered questions @

and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will @

not be evaluated and the entire responsibility will be of the candidate himself/herself.

. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using @
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not
be evaluated.

. Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.

Candidate should not fold the Answer Sheet (OMR Sheet).

You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the

Answer Sheet (OMR Sheet) to the Room Invigilator.

In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will

be disqualified from the examination.

No candidate will leave the examination hall until 120 minutes (two hours) are completed.

Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be @

provided.

Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet

(OMR Sheet).

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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